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I '® mwn: age parameter for n7m Mo 12 (v. 1)
a  From: mAyw 'nv until the “lower beard” surrounds (the member, but not the testes — as per 8»n ")
b Source: v.1-11excludes daughters (even though they are as likely to end up in life of crime — 21n570 nA1)
i And: 11 excludes an adult; but a minor is excluded as he is exempt from nnxn
ii  Question: a 19p is never liable — why mention his exclusion here?
iii Answer: we would have thought that since a n"yva is killed in anticipation of his future, a jop is included
1 Source (37):v.1- 12 wRY 7 ) > a boy who is nearly a man
2 701’1 v. 1also teaches that if a boy sires a child, he can no longer be a n"yoa — 11 125 851,12 WRY
(a) Contra: na1 who rules that a jop cannot sire a child
(i) Proof:v.2 - only have to look for children of adult nnw 93, not nnw jop
(ii) Challenge (728): 9-year old boy’s n&»1is considered nxr»a (for m»y and nna’ 1ap)
1. Answer: he is able to have nxk»1, but cannot impregnate
2. Support: wpn »27 RIN's MW7 on vv. 3-4 — only a man can “seethe” and sire a child, not a jop
(iii) Challenge: ™1 »a7 taught that 12 (in n"01) excludes a father — but this is impossible anyway
1. Reason: we learn that the n”yo1 has a window of liability of 3 months (maximum)
2. Cannot mean: that he sired before he brought m yw 'nv, as per N1y
3. Rather: read 12and not one called “father” (generated noticeable pregnancy —i.e. at 3 mos.)
¢ Revisiting “3 months” rule: challenge from niwn which gives physical description
i Answer: whichever comes first takes him out of status of ja
ii  Implication (»*77 /773 X177 7): even a short-term pregnancy only shows at 3 months
1 Argument: else, a 7-month pregnancy would show at 2.3 months — and that’s be the “window” for n"va
(a) Counter (x2237): perhaps it always shows at a third, but we follow 217
(i)  Block (»717 /7273 82177 7): we don’t follow 211 for mwa (extending his time) — as per v. 5
(ii) Defense (n1237): we follow 217, as per earlier mwn where an error of one day was acceptable, since
most people (217) are imprecise regarding wnn Ny
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(iii) Support (’»nor7m 7707 *9): ruling that a 3-year old girl is fully a nx»a n3, such that

1. If: she is betrothed it is valid
2. And: all nvy are killed on her account
a.  Even though: she may prove to be an nm>»y, invalidating her pwyrp —
b. But: since we follow a1, which are not %R, he is killed
3. Block: liability could be for j27p
a.  Counter: mwn states that they are killed on her account
4. Block: m»y could be a reference to consanguinity
a. Counter: mwn applies this to “all m»y”
5. rather: it may be a case where he betrothed her and made it unconditional (even if n157R)

II  Tangential discussion — n1a1 nY,on (if a woman is sexually exciting her minor son and he enters her)
a  w7xsheisinvalid for n1n3 (considered nx»a)
b 72 still valid for n1n3 (not considered a nx’a)
i A7on ‘7 all agree if he was over 9, the n&ais valid and Yo
1  And:if he is under §, it is nothing
2 Dispute: if he is 8
(a) Explanation: v"a infers from earlier generations, n"a does not

(i)
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References:

1. 5o1upnN. vv. 6-14 imply that e ny’s family had children at age 8 (blocked)
2. pi77an: vv. 15-18 imply that nn’s family had children at age 8 (blocked)

3. ow: vv. 19-22 imply that ny’s family had children at age 8 (blocked)

4. 585y vv. 23-26 imply that 255’s family had children at age 8
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